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QUESTION ONE: PRICE TAKER MODEL

Powdered milk, a product of the dairy industry, is a significant New Zealand export.
Dairy farms rely heavily on irrigation, such as the Central Plains Irrigation Scheme.

The aim of irrigation is to supply enough water for pastoral growth at times of the year
when rainfall is unreliable or inadequate. Irrigated land in Canterbury shows a gain of
5000 kg of output per hectare per year, compared to unirrigated land.

Source (adapted): http://www.rockpoint.co.nz/pdfs/Irrigation-in-New-Zealand-2012-Rockpoint.pdf

(@) () On Graph One below, show the impact on export receipts from powdered milk, of
increased irrigation on agricultural land.

Graph One: Market for New Zealand powdered milk
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(i) Use Graph One to fully explain the impact on export receipts from powdered milk, of
increased irrigation on agricultural land.
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A resolution by a World Trade Organisation conference to eliminate agricultural export
subsidies is good news for New Zealand. New Zealand is a successful exporter of

farm products to many countries that currently subsidise their local production. New
Zealand stands to gain greatly if agricultural export subsidies are eventually eliminated
and the supply in the rest of the world decreases.

Source (adapted): http://www.nzherald.co.nz/business/news/article.cfm?c_id=3&objectid=11564655

New Zealand has no export subsidies on powdered milk exports.

(b) ()  On Graph Two below, show the impact on export receipts from powdered milk, of the
elimination of agricultural export subsidies in our major export markets.

Graph Two: Market for New Zealand powdered milk

Price Al

($) S

NZ

Pw = N S

Q¥

I I oo = QN 2 },
Qsz Q())‘(\/’L\ QSNZ .
E > Quantity

(i) Use Graph Two to fully explain the impact on export receipts from powdered milk, of
the elimination of agricultural export subsidies in our major export markets.
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(i) Refer to Graphs One and Two to fully explain why the elimination of agricultural export ASSESSOR'S
subsidies in our major export markets will have a greater impact on the export receipts
from powdered milk, than increased irrigation of agricultural land.
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QUESTION TWO: EXCHANGE RATE AND TWO-COUNTRY MODEL

Between 21 March 2015 and 20 January 2016, the New Zealand dollar depreciated 17%
against the Japanese yen.

Source: http://www.x-rates.com/graph/?from=NZD&to=]PY &amount=1

(@) (i) Use Graph Three below to show a shift in the demand for the New Zealand dollar that
will result in its depreciation against the Japanese yen.

Graph Three: Market for the New Zealand dollar
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(i)  Fully explain ONE possible reason for the shift in demand for the New Zealand dollar,
as shown in Graph Three.
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Japan is the largest market for aluminium produced in New Zealand. In 2014, Japan
imported approximately half of the $837 million total New Zealand aluminium
exported.

Source: http://www.worldsrichestcountries.com/top-new-zealand-exports.html

(b)  On Graph Four below, P_ is the price of aluminium before depreciation of the New Zealand
dollar against the Japanese yen. Use Graph Four to show:

the change in demand in the Japanese market due to the depreciation of the NZ dollar
against the Japanese yen

change in the quantity of aluminium exports between New Zealand and Japan.

Graph Four: Two-country model for aluminium
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(c) Use Graph Four to fully explain the change in demand for aluminium in the Japanese market,
and the consequent changes in the value of aluminium exports between New Zealand and
Japan.
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QUESTION THREE: THE BASIS OF TRADE AND FREE TRADE AGREEMENTS (FTA)

(a) Identify TWO of New Zealand’s imports from the top six by value.

@) Chonics- /

(b) Use one of the imports from part (a) to fully explain an economic reason why New Zealand is
an importer of this good.
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The Trans-Pacific Partnership Agreement (TPP) will give our exporters much better gy

J access to a market of more than 800 million customers in 11 countries across Asia and
| the Pacific, including the United States and Japan. The TPP will eliminate tariffs on 93
per cent of New Zealand’s exports to our new FTA partners. The overall benefit of the
TPP to New Zealand is estimated to be at least $2.7 billion a year by 2030. That's more
jobs, higher incomes, and a better standard of living for New Zealanders.

Source (adapted): http://tpp.mfat.govt.nz/
Statement by the Prime Minister: beehive.govt.nz/release/pm-welcomes-tpp-nz's-biggest-trade-deal

’ (c) Compare and contrast the impact of the Trans-Pacific Partnership Agreement on:

| . New Zealand export industries and New Zealand industries not directly involved in
exporting

domestic workers in export industries and domestic workers in import industries.

T it ot "ot ki, g

} ) i/u‘)‘ 1 g W npeac - - |
T\Oﬂ on New Zealond €XEO‘Y} Sndustes. The Top

remows 9% percent ok \aritks 0h Ve Zeotand
Expor ke TWIS eond Thal Mews Zeatand pyodvcers
<ol be sacheing receiving R Cull pce faid by
the Oversrs bugas. The lemand (e New 2ealcid
Aoty Moy alse IneRAR, Wiheh Wl INCRASE
produckion e Ty men mac 0 ovanaie
Lhich ol heve a pesttve impack on the unemplagmery
(ax Ths il ave mean ok Hhe (opvermrent now
has Yo Pewy ouk Lless tn Unempl W\@mr/
Venefils, omd He  ovevall siandanel oF i g v
hose inwvoMted in Me expor indusku Na mproal:
WV‘QT\EO\S[CO( New Zearond induwskes nok
clivechy tvehed in expusting i¥ fos \esdb o
impack:The Mew Zeorond Govevivmen e pess—
L hove Mo saxere monexg—to—Spend a5
L\w% hove Lo p oW less in- unemplo gaeny:

More answer space is available on the next page.

Economics 91223, 2016




10

benefiks and ave receivin ﬂ(mee money Bsdy i e
COYW\ ok income tay 15 coldXIMpnove ‘ﬂroodnm
Or aLhe»p Gy ok pkashructug, mm\ch would

\OW\QQ/\ 1 Industiney, V\dr XD)Q‘r Yo invelved in {x(m/}“{.

TP 5 an eppertuniny tir Hhoe woleon

involved i expork indvsingy 4o eam a ,V,\Q[
' %QF abetey )Qb/ﬂ/\ TPV a@reemen/w enople)
o€ Heid overall Stardad Ok \\\/mcyr
Fo v domatc wokers poovking (i Hae impei
NS &g ave  ndl really aﬁ?ﬁc@d tHhe
O%\/CQYV\QY\\' TYO\O\Q Uo\\/\f\ the W ndvions \Y\\/O\véd
e easiey  wowich A el Yo Tnaek

pvoauc\wc “owdl meg hae 0 svall thoeie on
M(\Q\‘/ \5UL c ouk ot ac M as o L/OO'MVS

I e € cwﬂr \V\O\\AS\/vy/

Economics 91223, 2016




Achievement exemplar for 91223 2016 Total score | 10

Grade

Q score

Annotation

This candidate has received an A3 grade because they have:

* correctly drawn and labelled on Graph One an increase in supply, Qsnz
increasing and level of exports increasing (no change in Pw).

* explained that the increased irrigation will increase the supply of powdered
milk, resulting in an increase in exports.

Fully explaining that the increased irrigation increases supply of powdered milk
with a reason (e.g. increased productivity, lower costs of production), therefore
increases/export receipts, referring to Graph One, would have resulted in M6.

This candidate has received an A3 grade because they have:

* correctly drawn on Graph Three a decrease in demand for NZ dollars
resulting in a depreciation against the Japanese yen.

* explained ONE possible reason why the demand for NZ dollars has
decreased, in this case a decrease in interest rates in NZ.

Fully explaining that the demand for NZ dollars has decreased, with a reason
given in context (e.g. decreased NZ interest rates with lead to a decrease in
demand for NZ dollars by Japanese investors, resulting in the currency
depreciating against the Japanese yen ¥) and integrating Graph Three into their
explanation would have resulted in an M6 grade.

This candidate has received an A4 grade because they have:

* explained that New Zealand lacks the natural resources/expertise/
economies of scale to (competitively/efficiently) make these products
compared to other countries

* explained an impact on domestic workers in export industries (e.g. higher
exports will lead to higher incomes/more jobs).

Giving a detailed explanation for one group listed in part (c), e.g. that the greater
access to 11 countries/800 million customers or less protectionist barriers such as
tariffs, will lead to export industries selling more exports, or lower costs, and
therefore higher revenue/profit levels OR fully explaining that with increased
international trade/greater access to 11 countries/800 million customers/less
protectionist barriers such as tariffs will lead to more exports and, therefore, more
labour will be required (derived demand idea), leading to higher income levels/
living standards and/or job opportunities for domestic workers in export industries,
would have resulted in M5.






